v g a 3
> T o
2 0 < m m_ n -
& | G4 ad EENE R
=< O +| <& +
g Qo
e
g | N N n
5, ] g
|5 1 o
()|
5
[} =
n S
i 5 F g =
% N doo % N doo + N| doo - NI doorf ol nm g S
ol 2§ .3
wyog wyog Eh_somnT wayo 3 g 2 5 2
5 5 o
o o + 8 o <
- 1NQ dooT + 1NO dooT + 1NO doo - 1NO dooT ] 2 9
—_ C
- -
Lz10gebleubis | Hzieqebeubls +m;mgmm_mcm_mm_ -zlaqebleupis | 1 2 o8 3
PSP o £9 ¢
o o b | ) Z 0z ol 5 @ 2 2 2
Wyos Wyos wayos wayog o o ¥ 23 82o
o o o
-1J9agbeubig | +|1egableubis +Emgmm_mcm_% -118qebleudis’ A %
Q 5. jeqeb-'ubig |
z xon S D q .mu
< “xon T g
g - 2  +9geb-'ubis
° -Xap 0
e
€
m Vo o+ o+
< Qo aqa
§888 Y
2335 y
ad
ON 174 z1eN
NOD 114 z1eN
DN 174 Z18N
ON 174 Hed
NOD 1714 heg
DN 174 neg
Aule}
+2 1IN0
“1n0
Lo
B
(0]
o
- jed N
[
* eg z
+1eg
.20
8
T
o F/un o - jed m
2 m 4
+1eg
0
: o 5
o S =
+Xo [0}
+xm> S 5-1eqeb-ubig’ -3eg a
AN © T o
Oxop & g
o 2  +98geb-'ubis
xon D
1 1 + +
QO Q9 Q9 Q
O O O O
%% %%
| c
U]
(o))
E m
c
@©
(V]
S
=32
H d
c
S 5
-
m
v g a 3




